3 (Sem-5) CSC

2017

COMPUTER SCIENCE
( General )

( Computer Organization and Operating System )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

PART—I
1. Answer the following as directed : 1x6=6
o1 T AR e o
(@) A half-adder can add three bits.
- (Write True or False)
b1 21 -9 DT RS e {7 i |
(o= 7 SR o)
(b) A multiplexer can have multiple output
lines.
(Write True or False)

<51 multiplexers q3fis output line Af¥Fq
NI
(9% 1 wrem fopn)
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(c)

(d)

(e)

8A/163

(2)

.In asynchronous cdunter, all flip-flops

are triggered by one clock pulse.
(Write True or False)

Asynchronous counters PR
flip-flop 9Bl clock pulsed 72R® Sreftre 41
21

(W= 1 % o)

PSW stands for 5
“( Fill in the blank )

PSW @ ____ dfsffds s
(S 3% *&et 30)

Programmed I/O needs constant
monitoring by CPU.

(Write True or False)

Programmed [/O® CPUQ@ «(3YIF T
TR A =1 |

(% (7 wrym fordr)

In addressing mode, the operand is
in a CPU register.

( Fill in the blank )

addressing mode® operand(bl CPU
register® (T | .
(=10 372 779 3¥4)

( Continued )

(3)

2. Answer the following questions : - 2x5=10
weTS il AR Tey fore
(a) What is normalized floating point
number?

Normalized floating point number 3 2

(b) What is shift register?
Shift register 72

(c) What is the use of Program Counter (PC)?
Program Counter (PC)3 IRgRel 2

(d) What is address bus?
Address bus %72

(e} What is interrupt?
Interrupt =2

3. Answer any four of the following questions :
5x4=20

wers il ecaRs & i viiRbR Teq fore

(a) Draw the truth table and logic diagram of
a full adder. ;
Full adderd truth table ¥ logic

diagram S9! |
(b) Describe the working principle of
multiplexer.
Multiplexerd ST 61 F47 |
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(4) ' (S)

(c) Draw logic diagram and characteristic (b) Give brief description of the following :
table of J-K flip-flop. weTe fracares vy et fian:
JK flip-flops logic @ = e wifer () SP =
o4TS 91 |
\ ; : ; (@ IR
(d) Briefly explain how instructions are
fetched and executed. (@) Condition flags
Instruction@¥ (F(F fetch and execute (iv) Control unit
31 W, TYF 39T 90 (v) Timing unit
(e} What is addressing mode? Explain any
two addressing modes. {¢) Explain interrupt driven I/O and DMA.
Addressing mode f&? R @m0 Interrupt driven 1/O &i® DMAS 3¢ fran |

addressing mode 3¢ ¥ |
() Differentiate between memory mapped

I/O and I/O mapped I/0. PART—II
'R @rre 1/0 S=F 1/0 @9% 1/07 “eE ‘_ :
B | . 5. Write True of False : 1x3=3

(g) Briefly explain the communication R G{W‘ﬂ?ﬁ'ﬂ—:

lé;tgeen e an,cii%;nam mg;ﬂmory. o fa) LRU is a page replacement algorithm.
qwgl@wm i G5 LRU 25 <51 ¢ Reeoea s «aoifie |

(b) Shell is a command interpreter.

. followi ti :
4. Answer any two of the following questions Shiell 2% &b command faterprater.

10x2=20

ot il eead R e qor Tes forat
(¢} Scheduling algorithm is used for paging.

(a) Design a magnitude comparator. Paging® scheduling @=f32 39217 391 =7 |
@61 magnitude comparator IGRT | ' -
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(6)

6. Answer the following questions : 2x2=4
weTs fHl ereaRs ey fore

(a) What is virtual memory?
Virtual memory & ?

(b) What is deadlock?
Deadlock 7

7. Answer any two questions : 5x2=10
R CPIC Yol 2p T foret

(a) Differentiate  between paging and
segmentation.

Paging §I¥ segmentationd “1¢F &4 |

(b) What is process? What are the different
states of process?

Process & ? Processd fif$a state@® $2

(c) Write a shell script to multiply two
numbers.

1 S0 79 $RAT B shell script B4 |

(d) Give an introduction to Bourne shell.
Bourne shelld Sey fi |

8A/163 ( Continued )

(7))
8. Explain any one scheduling algorithm. 7
R @I @b scheduling algorithm I< 3471
C L Or/9=y
Write a shell script to feverse a strihg. 7

9B string reverse 3% shell script 3141 |

* kK
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